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¬�O¶pFROH�1RWUH-'DPH��MH�
P¶pSDQRXLV�GDQV�XQH�DP�
ELDQFH�IDPLOLDOH�HW�GH�SUR[L�
PLWp�� 

/HV�DGXOWHV�GH�O¶pFROH�VRQW�
WRXV�Oj�SRXU�P¶DLGHU�j�JUDQ�
GLU���SDUHQWV��HQVHLJQDQWV��
SHUVRQQHOV�GH�O¶pFROH��FDWp�
FKLVWHV��3DU�OHXUV�pFKDQJHV�
UpJXOLHUV��LOV�P¶DFFRPSD�
JQHQW�DX�TXRWLGLHQ� 

¬�O¶pFROH�1RWUH-'DPH��MH�
JUDQGLV�VRXV�OHV�UHJDUGV�SR�
VLWLIV�HW�ELHQYHLOODQWV�
G¶DGXOWHV�TXL�FURLHQW�HQ�PRL�� 

 

 

¬�O¶pFROH�1RWUH-'DPH��M¶DS�
SUHQGV�OH�UHVSHFW�HW�OH�PHWV�
HQ�SUDWLTXH���UHVSHFW�GHV�
FDPDUDGHV��UHVSHFW�GHV�
DGXOWHV��UHVSHFW�GHV�OLHX[�HW�
GX�PDWpULHO� 

3HWLW�j�SHWLW��MH�SUHQGV�GHV�
UHVSRQVDELOLWpV�DX�VHLQ�
G¶XQ�JURXSH�HW�M¶DYDQFH�SUR�
JUHVVLYHPHQW�YHUV�O¶DXWRQR�
PLH�� 

¬�O¶pFROH�1RWUH-'DPH��QRXV�
QRXV�HQWUDLGRQV�SRXU�SUR�
JUHVVHU�HQVHPEOH��QRWDP�
PHQW�SDU�OH�WXWRUDW� 

-¶DSSUHQGV�j�pFRXWHU�OHV�
DXWUHV�HW�j�SUHQGUH�HQ�
FRPSWH�OHXUV�SURSRV�� 

-¶H[SULPH�PHV�pPRWLRQV�
VHUHLQHPHQW�SRXU�PH�IDLUH�
FRPSUHQGUH�HW�DGDSWHU�PRQ�
DWWLWXGH�� 

¬�O¶pFROH�1RWUH-'DPH��M¶DF�
TXLHUV�GHV�FRQQDLVVDQFHV�HW�
GpYHORSSH�OH�SODLVLU�G¶DS�
SUHQGUH�� 

-¶DSSUHQGV�j�O¶DLGH�G¶XQH�Sp�
GDJRJLH�GH�SURMHWV�� 

3RXU�ELHQ�SURJUHVVHU��MH�PD�
QLSXOH�HW�M¶H[SpULPHQWH�� 

-¶DL�OH�GURLW�GH�PH�WURPSHU��
F¶HVW�DLQVL�TXH�MH�SURJUHVVH�
HW�TXH�MH�P¶DPpOLRUH�� 

-¶DSSUHQGV�j�GpYHORSSHU�XQ�
UHJDUG�FULWLTXH�VXU�OHV�LQIRU�
PDWLRQV� 

-H�SHUVpYqUH��PH�GpSDVVH�HW�
IDLV�GH�PRQ�PLHX[�� 

-H�VXLV�XQH�SHUVRQQH�
XQLTXH��M¶DSSUHQGV�j�PH�
FRQQDvWUH�HW�j�GpYHORSSHU�
PHV�WDOHQWV�� 

/D�GLIIpUHQFLDWLRQ�GHV�HQVHL�
JQHPHQWV�PH�SHUPHW�GH�
JUDQGLU�j�PRQ�U\WKPH�� 

¬�O¶pFROH�1RWUH-'DPH��MH�
P¶pSDQRXLV�HQ�SUHQDQW�HQ�
FRPSWH�WRXWHV�OHV�GLPHQ�
VLRQV�GH�PD�SHUVRQQH���
FRUSRUHOOH��DIIHFWLYH��LQWHOOHF�
WXHOOH��VSLULWXHOOH���� 

¬�O¶pFROH�1RWUH-'DPH��MH�
SHX[�SHWLW�j�SHWLW�GpFRXYULU�
'LHX��QRWDPPHQW�j�WUDYHUV�
OHV�FpOpEUDWLRQV��OH�FDWp�
FKLVPH«� 
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